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5 | Anisosceles trapezoid has bases of lengths 20 and 30, legs whose lengths are
integers, and an enclosed area that is also an integer. Find the enclosed area.
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In an icosahedron, which has 20 faces, the sum of the number of vertices and edges
equals 42. Find the number of edges of an icosahedron.

Two circles that are externally tangent have radii of lengths 5 and 12. A line is
drawn, externally tangent to both circles. Consider the points of tangency, one on
each circle, of the circles with the line. Find the distance between these two points.
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